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TOPIC:- Quadratic Equation
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The roots of equation
(x-b) (x-c) + (x+a) (x-c) + (x-a) (x-b) =0 are :-
(1) Positive  (2) Negative  (3) Real (4) Imaginary
Number of real solution of the equation
esinx - e-sinx —4=0are :-
1) 2 (@21 () infinite  (4) None of these
If o, B are roots of the equation (x-a) (x-b) = ¢ and ¢ # 0,
then roots of equation (x-a)) (x-p) + ¢ = 0 will be :-
1)a,c (2)b,c (B ab @a+c,b+c
If x* — 3x + 2 is a factor of polynomial x* — px® + g, then
p&qare:-
(1)4,5 (2)5,4 (3)-5,-4 (4) None of these
If quadratic equation (a® — 5a + 3)x* + (3a — 1)x + 2 = 0
one root is two times of other roots. Then value of a is :-
W-; @; O-: @5
If (1 — p) is a root of equation x* + px + (1-p) = O then
roots are :-

o1 @0,-1 @-11 @#-12
If x is real and positive, then value of x + % is :-
<2 (@<1 () <2 (4)>,2

If o, P are roots of equation ax” — 2bx + ¢ =0 and o + 5,
B + & are roots of equation Ax? + 2Bx + C = 0 then

b2 —ac

57 Squals to :-

m: @3 G @EY

If equation (b — c)x* + (c — a)x + (a — b) = 0 has equal
roots, then a, b, c is :-

(D) inAP. (2)inG.P. (3)InH.P. (4) None of these
Number of solutions of equation 3sin® — 7sinx + 2 = 0 in
interval [0, 57] is :-

1o 25 ()6 (4) 10

If , B are roots of equation x* + 8x + 9 = 0 then

o — % equals to :-

(1)55V7  (2)110v7 (3) 110v28  (4) None of these
The real roots of equation 7 '°9; ©2~#*% = x 4 1 s :-
Mm1,2 @21,4 (3)2,3 (4)4,5

If equation x* + x + 1 = 0 roots are a, B then equation of
roots (o + B?) & (o2 + B2) will be :-
) x-x+1=0 (2)x*-x-1=0
(3)x%-2x+1=0 (4)(x+1)°=0
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L. (x-b) (x-C) + (x+a) (X-C) + (x-a) (x-b) =0 %

SME A BT -

(1) omH®  (2) ®oTHD  (3) A<D (4) DU
T, ™ — e¥™ _ 4 =0 IRafdd gell B G B -
Q) 2 (21 (3)infinite  (4) None of these
e o, B . (x-a) (x-b) = ¢ & o B TFAT ¢ # 0, AT T
(X-a) (X-B) + ¢ =0 & T BT :-

D ac (2b,c (3ab @a+cb+c

I &oid X' — pxé + q B X — 3X + 2 Th [UHETS 7,
dpagz:-

4,5 (2)54 (3)-5,-4 (4) None of these
afy fgema i (@2 - 5a+3)X° + (3a—1)x + 2 =0 @r
T Hl AR I GUAT 81 Al a Pl A1 8T -

W-; @; O-; @5

I (1 — p) & X% + px + (1-p) = 0 T Hof B, 9 3P

q g -

o1 (20,-1 3-1,1 4 -1,2
g X IRAfA® T gD &, 9 x +% BT AM T -
<2 (@<1 () <2 (4)>,2

Ifs i ax’ — 2bx + ¢ =0 Hof o, p 7T FH
AXC+2Bx+C=0a Jofa+ 8, p+ 52 o
b2 2 oo & -

BZ —Ac
m: @3 @G @G
Iy T (b— )+ (c—a)x + (@a—b) =0 o
wAH © 99 a, b, cg -
(D) inAP. (2)inG.P. (3)inH.P. (4) None of these
T, 3sin®X — 7sinx + 2 = 0 & 3aRTat [0, 5m] & el
P FET T -
(0 (25 ()6 (410
I o, PN X2+ 8x+9=0a Fal &, ot o’ — p°
ENERESS
(1) 55v7 (2) 110v7 (3) 110v28  (4) None of these
FHEy, 7100, 02789 =y 4+ 1 B gRdfad T B -
@12 21,4 32,3 (4)4,5

I TN X +x+1=03 T o, f 2, A 98 9. s
T (o + B%) d (@ + B7) & €l -

Dx-x+1=0 () x*-x-1=0
B)x*-2x+1=0 (4)(x+1)?%=0
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If a, B are roots of equation x* + 2x + 5 = 0 then equation 14.
of roots i + % and (a + B) will be :-
(1) 5x*+12x-4=0 (2)5x°+12x+4=0
(3)5x*-12x+4=0  (4) None of these
q - x—m x+n .

In quadratic equation — 1 " g foots are reciprocoal 15.
of each other, then :-
WHn=0 @)m=n @) m+n=1 @ m’+n°=1
If VbeR, equation x* + (a — b)x + (1 —a —b) = 0 have 16.
different and real roots, then :-
a<l (Qa>1 3)a>0 (4)a<o0
Number of real roots of equation |x|? - 3|x| + 2 =0 are :- 17.
M2 23 @4 @1
In equation x* + bx + ¢ = 0, Sheela reads efficient of x, 19 18.
place of 16 and equation roots are -15 and -4, then right
root of equation are :-
(1)8,8 (2)6,10 (3)-6,-10 (4)12,5
If equation x* + px + q = 0 and x* + p’x + @’ = 0 have a 19.
common root is :-

pa'—p'q q-q'
1) =h | (2) o
()Ll ori%  (4) None of these

q9-q P —p
If o+ B =4 and o’ + p° = 44, then equation roots 20.
a, B are :-
(1)3x*+9x+11=0 (2)3x*-12x+5=0
(3)2x*-8x+5=0 (4) None of these
SHIVALIK

?:rf%:a,Bw.x2+2x+5:0$ﬂﬁ%‘,aaa—vﬁ%+%a
(o + ) ATl BT BRI -

(1) 5X*+12x-4=0 (2)5x*+12x+4=0
(3)5x*-12x+4=0  (4) None of these

ﬁmw'rsx_rlznz+:l$%ww-w
Bl -
Mn=0 @m=n @)m+n=1 @) m?+n?=1

afe VheR & o &l x> + (a—b)x + (1 -a-b) =0 &
I ar<fad vd 1 8, 79 —

1)a<1l (2a>1 (3)a>0 (4)a<o0

. |x|? - 3|x| +2 =0 IRAfID oAl &) AT B -
M2 @3 @4 @1

X° +bx +c=0, %9 # & # Mo x B orid BT S 16
2, oA ¥ 19 e § q WL & e -15 3R -4, U
S 8, A A D WA g © —

(1)8,8 (2)6,10 (3)-6,-10 (4)12,5

I T +px+q=0TFM X2+ p'X + q =0 B Ub
ol SIS &, T IHST 99 © -

(1) H=tt @
q—q p —p
R)E—Ligri_%  (4) None of these
q—q p —p

I o+ p=43R o’ + B> = 44, 9 ol q, B aTR
THL. BRI -

(1)3x*+9x+11=0
(3)2x*-8x+5=0

(2)3x*-12x+5=0
(4) None of these
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